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Sixth Semester B.E. 
P-"*T: 

Exarri.1l',a*tibn, June/July 2023
Fire str,cffis 

..". Max. r\:3 hrs, 
..:::;:. 

,r.::., ,a,,.*'{ :,.Max. Marks: 100
:j Ia:rrij::i .. ;q:r:tr::::r:;:::i;

Note: Answer any FIVE full questionyffi ONE full Uuestionffiach module.

a. Differentiate between fite structu6ffi data structures. Itlustfrte the evaluation of file
structures. .-. . -.. 

" *'rqr::*1k' (08 Marks)

b. Calculate the space required fufu"tape if we want to st6,@=million 100 byes records on
7250bpitape that has an nrGfhrilltock gap of 0.2 inches^an blocking factor of 60.

/A( ,lt[av]s\
(06 Marks)

c. Suppose you are writffiist of names to a text-Wre name per write statement. Why is
it not a good idea to c\ffi the file after every writb A;d reopen it before the next write?

.fl=f * s' (06 Marks)

.$l;*' OR'.,.:,"
a. Illustrate thesfip&.ftre of CD-ROM sectof-- " (05 Marks)

b. Write a pro-giam to read a series of nanied one per line standard input and write out those

lutn:s, lffi"in reversed order to".stafldard output. Use 
-read 

IO directions and pipes to do

the following: 
.i) '-"ffiut a series of name$#haf are typed rn tffi+fie keyboard and write them out

reversed to a file called file 1. _**t "*.--ii) Read the names in,$le 1, then write them out r$-reversed to a.ffilled file 2.

. (08 Marks)
c. Differentiate between$ffi$tant linear velg&t$*aild constant angulai velocity. Justi$ how

'i,. -. i
veloci,-[y iS more suitable&q audio CD. ],-*_.:

ff

r-, I\fiarl rrlo-? g ,#ff'1

5 a. Define heap. Li$)fhe properties of the heap. Build the heap binary tree
keys.Showegekslenclearly. F D C G H I B E A.

b. Explain the m8ffig as a way of sorting of large files on disk.

c. Exnlain{re eonsequential operations with bn example

. i\r,.

,.;;*:]' I of 2

(07 Marks)

lllustrate with aii example. -,' o (06 Marks)

. ',,::.:.:- I (06 Marks)

Module-3
for the following

(08 Marks)
(08 Marks)
(04 Marks)

constant linear velocity is more suitable g ariAio Cn.

' Module-2 i u'
,,,::,,"! ffi - ":*l

a. How space ca#:':b6 reclaimed frop*efi$L,ideletion of recq:dS in the variable length records.
ruBglrglv .-,.......\

b. Discuss fu limitation of secofrury key index.,,,ffirn the linking the list of references
tpnhnin}i8Yh rrr/F,r..r.r1yre the f,i=ifilita+{nn lo6 lVforlrs}

rffijrll$rli

techniqiieTb overcome the
c. What=,'isr redundancy red$What="iSr redundancy redu*tion? Why run ,fength encoding is an example of redundancy

"-reduction? 
How would ncode the f&ltffiring sequence of hexadecimal ble values?

.,,,,,,,,,?,,3,,23,24,24,24,24,124':424,24,25,26;26;"26,26,26,26, 25,24. (08 Marks)

,,:::::. 
,,: i.;.lt f{.

a." Explain the {.uffman code atgoritJgffienerate the Huffrnan code for CDFFE. (0s Marks)

b. What is theq,if,ference betweep,ffiEinal and external fragmentation? How can compaction
efflect the.dho'ltht of internal fraffintation in a file? What about external frug-."tlJ;o#:.ur)

c. Write a C++ program on*simple index for a file of student objects. Implement add( ) and

search( ) function using'.tliorindex. (06 Marks)
td'n
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B trees.

18IS61

(06 Marks)
(08 Marks)
(06 Marks)

6a.

b.

7a.
b.
c.

8a.

Define B-tree. List the properties of B-tree. Build the B-tree fo11,,,.!e given keys.
^ 

o n r a lrn rn rt7lr n rrn rz r rr n r r\t7\ z n \z r/ alC S D T A M P I B W N G U R K E H O L J.Sla"Z F X V. Showeachstep
clearly. *'ffi''

I B-tree.
(14 Marks)

B-tree of order 512 that
(06 Marks)

b.

,"t1=0R r!i'

Describe file structures that p.*l.lq,id# fo[owing type of ac.pHHt:

i) Sequential Access only gt6 fui *H,",ii) Direct Access only q ts 'r
iir) Indexed Sequential Access. (09 Marks)
Explain with a suitable- gfitqrflple variable length sepat*hhor and corresponding index.

s$h, ^ 4.swq,.? (05 Marks)
If the keys EMBRy qlitl+OLKS in the simple pr6fl* in the following Fig.Q.8(c) are deleted
from the sequen@'i*tpt node. How the index set in the given diagram is affected by the
sequence r.:u*re* -'i-,,,,"r'=* = m}

\:-

(06 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

(10 Marks)
randomly hashed files

Illustrate the maintenance of sequence set

Describe the simple prefix B+ tree and i
List the strength and weakness of B+ t.g*$T

'-+e*l:

10

z oiz


